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Junior Hindi Translator Junior Translator and Senior Hindi Translator
Examination 2022

IRoll Number

Candidate Name

Venue Name

Exam Date 01/10/2022

Exam Time 2:00 PM - 4:00 PM

Subject Junior Hindi Translator Paper |

Section : General Hindi

Q.1 ‘Mg d doahr 3@ & Il Alehifeh o1 Tt oref orar @2
Ans X 1.7 # dSH 3ART AT

o 2. VST &3 TR gEdT
25 3. el TR aret o ufd sireRyor
72X 4. B A a1 Y & AT

Question ID : 26433094364
Status : Answered
Chosen Option : 2

Q.2 Aar (1) wet Fewre (2) Srdt F (3) U 1Y | (4) | YR Wi are’s J TRy TET 1 Tt
TR T EIT?

Ans X 1.431,2
X 2.1,432
X 3.3412
o 4.1342

Question ID : 26433094387
Status : Answered
Chosen Option : 4

Q.3 fF=faf@a & @ s s Sib-a1 82
Ans X 1.3

K2H

K3g

4T

Question ID : 26433094430
Status : Answered
Chosen Option : 4
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Q.4 ‘gg1 foe 9 anex e arer & wi9-91 RS &2
Ans o 1. 3UrErE

X 2. dueH

25 3. 3rfdrepor

X 4. For

Question ID : 26433094318
Status : Answered
Chosen Option: 1

Q.5 et Y 3R d -4 2 gPg T 82
Ans X 1. 3Mchign

X 2. 3udeg

« 3.FRg

X 4. dhepor

Question ID : 26433094458
Status : Answered
Chosen Option: 3

Q.6 M + $31 Y | T -7 2rg TAM?
Ans X 1.&0mr

X 2. U

o 3. U

X 4. o

Question ID : 26433094356
Status : Answered
Chosen Option: 3

Q.7 ‘QehIQeh’ H iF-9T IHIH 82
Ans X 1.3

X253

o 3. STt

X 4. TR

Question ID : 26433094468
Status : Answered
Chosen Option: 3
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Q.8 FRA[E (1) & (2) ¥ (3) FY (4) Frewet (5) o (6) 1 TRga Eisa arar & she T (1) 8k (2) &
TE, TR TTHT kT Tl shH T gIT?

Ans o 1.6,4,3,5
% 2.3,5,6,4
X 3.53,6,4
X 4.6,4,53

Question ID : 26433094490
Status : Answered
Chosen Option: 1

Q.9 ‘wRroi fohgent faeiy eree 82
Ans X 1.3s

& 2. e

« 3. oS

K 4R

Question ID : 26433094342
Status : Answered
Chosen Option: 3

Q.10 F=fafEa & & wi=-ar1 arer 35 82
Ans X 1.&" foha-it el &l GgeT Ul
o 2. g4 fha e ggA U
X 3. &5 foha el ol g w2
X 4. gH foha el &l ggT ue

Question ID : 26433094310
Status : Answered
Chosen Option : 2

Q.11 ‘f3ferar &1 aga== = ghm?
Ans X 1. fSfE

X 2. fsfo

o 3. f3feaf

X 4. fefommei

Question ID : 26433094316
Status : Answered
Chosen Option : 3



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.12 ‘H2r o1 HEl |@fY-Rdg T §?
Ans o 13T+

X 2.3+ A

X3+

X 4. T+ 2

Question ID : 26433094464
Status : Answered
Chosen Option: 1

Q.13 ‘ugfgardY fi gf® @ wi=-ar gm gafea T8 8?2
Ans o 1.5 - gfear

&K 2.5 - Ik

X 3.9k - Alvs

X 4. 798 - et

Question ID : 26433094340
Status : Not Answered
Chosen Option : --

Q.14 uwdler (1) A 7 (2) g&aeh (3) I (4) | Vg Tiea arers & a1y SI=T 1 Gg) shA T
grm?

Ans o7 1.4,1,32
X 22413
X 3.431,2
X 4.1,3,4,2

Question ID : 26433094494
Status : Answered
Chosen Option: 1

Q.15 ‘ag UgdT &' dTeRT hl &Il hi--9T 82
Ans X 1. qof adHH

A 2. QY YdehTel

o 3. AT adAH

75 4. archiferes adaT

Question ID : 26433094326
Status : Answered
Chosen Option : 3
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Q.16 ‘il HeheHT STOR hedT &' ararIien & fog Geh 2reg T ghmr?
Ans o 1. ardl

X 2. afage

X 3. Sifdem

& 4. ufdardy

Question ID : 26433094462
Status : Answered
Chosen Option: 1

Q.17 ‘it <hgl 71T @' aTerTiel & foI en 21z o 87
Ans X 1.ufsq

K 2. vepiira

X 3. ffea

o 4. FAT

Question ID : 26433094352
Status : Answered
Chosen Option : 4

Q.18 fR=fafEa & @ wi=-ar e g 82
Ans X 1. TSIl STgT 3@

o 2. OO UR 1gT 3@l |

X 3. TSI R HHgT |

K 4. TS T G B

Question ID : 26433094414
Status : Answered
Chosen Option : 2

Q.19 ‘st fohe UehR @t fasivor 82
Ans o 1. 7UTATEh

X 2. grdtAe

X 3. uRmTUrEiys

KX 4. SE=ATdTIch

Question ID : 26433094312
Status : Answered
Chosen Option: 1
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Q.20 oHIforET= (1) &1 (2) AT (3) AT (4) =T&T (5) foFa=t (6) 1 v @if3a arera & o ww= (1) iR (2)

& 1€ ITeRT T T Tl oh T gHI?
Ans X 1.4356
X 2.4536
X3.6534
o 4.46,53

Question ID : 26433094378
Status : Answered
Chosen Option : 4

Q.21 ‘&g @d 6, G @ieig Y’ dleifwh o1 gat orf o 82
Ans o 1. gl TS TAT SR U FHS T

2< 2. Tt g T, agt JHe T

X 3.3 THeT # 81 o

X 4. T el 3R g

Question ID : 26433094472
Status : Answered
Chosen Option : 1

Q.22 ‘gar agd R st 31" arera A fowar Rsivor 7 g2
Ans X 1.ar

o 2. 9gd

X 3.dredt

X 48

Question ID : 26433094436
Status : Answered
Chosen Option : 2

Q.23 gg 9rT R dhaet _____ @11 <k T & forg Sugeh 2res oram ghm?
Ans X 197

o 2318

X 3. U

X 4. Tha

Question ID : 26433094332
Status : Answered
Chosen Option : 2
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Ans

Q.24 sHTHARASNRI_____ g1 =k == & g Sugeh 21eg o/am ghvm?

o 1. 97
X 273
X 3.
X 4. T

Question ID : 26433094440
Status : Answered
Chosen Option: 1

Ans

Q.25 f=fafEa & @ w=-ar1 arer g 82

o 1. 8iRd @ @ Tt 81
X 2. iRd @ @A B
X 3. ofRkd @FT @ g
X 4. ofd @ @ 8|

Question ID : 26433094308
Status : Answered
Chosen Option : 1

Ans

Q.26 Fr=fatRe & & wiF-t forar dzomeie frar &2

1. ST
& 2@
X 3. de
o 4. fSar

Question ID : 26433094422
Status : Answered
Chosen Option : 4

Ans

Q.27 w1 (1) & (2) a9 (3) St (4) 1 VR Eiea araRa | areRy |=T T gl ThA T giT?

X 1.4,2,31
& 2.1,3,4,2
X 31,423
X 4.3,4,2,1

Question ID : 26433094492
Status : Answered
Chosen Option : 2
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Q.28 &t (1) Zaammt (2) forfyy & (3) wirelt (4) & (5) foeht (6)1 v_ga @i ararr & e wmm (1) 81k (2)

& 1€ ITeRT TG T Tl sh T gHIT?
Ans X 1.356/4
o 2.3,6/4,5
X 3.4563
X 4.36,54

Question ID : 26433094380
Status : Answered
Chosen Option : 2

Q.29 F=fafEa # & sy guf wiF-a1 8?
Ans X 1.9

& 2.9

K 3.4

X ag

Question ID : 26433094432
Status : Answered
Chosen Option : 2

Q.30 F=fafEa & @ wi=-a1 a5 82

Ans X 1.z gdtemat o1 Arenw B g @nfduy
X 2. g utenadt i Hiemw B g =nfewl
X 3. gt udtenadt <l wiemw B g =nfiwl
o 4. 5 udtensit ot ArenH B g anfeul

Question ID : 26433094416
Status : Answered
Chosen Option: 4

Q.31 ‘dféya’ forgen faei 21z 82
Ans X 1. dfera

o 2. Oqa

X 3. sfasmifs

X 4. ufera

Question ID : 26433094450
Status : Answered
Chosen Option : 2
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Q.32 f=fafEa & @ wi=-a1 a5 82
Ans X .98 e R A gl

o 2. 98 S-S R A gl

X 3. 9 SXI-e3d IR H g

X 4. T8 S-S e H gt

Question ID : 26433094412
Status : Answered
Chosen Option : 2

Q.33 f=fafEa & @ w=-ar1 arer g5 82
Ans X 1. 3Jg &N &1 hgal g7

X 2. 9g &N R hed 87

X 3. 3 ST T Rt &7

o 4.3 TN R hed 82

Question ID : 26433094302
Status : Answered
Chosen Option : 4

Q.34 =k (1) Fg<lt (2) & (3) R (4) 1| wga @i arera & arery TRTAT 1 TS A T ghm?
Ans X 1.423/

*K 22314

o 3.1,423

X 41432

Question ID : 26433094384
Status : Answered
Chosen Option: 3

Q.35 fR=fafEa & @ @i=-ar1 e g T8 22
Ans X 1.9H

X 2.9
o 3.7
X 4T

Question ID : 26433094456
Status : Answered
Chosen Option: 3

Q.36 f=fafEa & @ wi=-ar 2reg Sifer &2
Ans X 1.9m@

X 294

o 3.9

X 4. g

Question ID : 26433094428
Status : Answered
Chosen Option : 3



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.37 ‘g &1 @l |- Rag o ghm?
Ans X 1.98+ 3

X 2.9+ A

X 3. 93 + S

o 4. T + 3T

Question ID : 26433094358
Status : Answered
Chosen Option : 4

Q.38 ‘ugfy’ fi gf® @ wi=-ar gm gafea T8 82
Ans X 1.7 — HaIfhAT

X 2. aedt - Rt

o 3. T - STt

X 4. gedt — gan

Question ID : 26433094448
Status : Answered
Chosen Option : 2

Q.39 fR=faf@a & @ &=-a1 2z ‘ol o1 gafaarh 82
Ans X 1. faerar

& 2. ot
K 3.fay
X 4. vt

Question ID : 26433094446
Status : Answered
Chosen Option : 2

Q.40 F=fafEa & & wi=-a1 arr 5 8?

Ans X 1. fhdhe & gurdt &9 & Sftd gyl
o 2. fohche # gardt & < it g2
X 3. fehche & gt &1 o1 STt gaiT
X 4. fondhe o gHRY &7 & Sftd gd|

Question ID : 26433094304
Status : Answered
Chosen Option : 2

Q41 sFATaeaR____ R s w1 & foig Suges 2res om ghm?
Ans X 1.%@

X 2. frr

X 3.3dr

o 4.3

Question ID : 26433094442
Status : Answered
Chosen Option: 4
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Q.42 ‘3rIfAeRT agd A Tt g1 arer | forar fardteor ar g2
Ans X 1.8

o 2.9g3

X 3. TR

X A =t

Question ID : 26433094328
Status : Answered
Chosen Option : 2

Q.43 ‘gfh gt gT 31 & g Iugh HgrerT & &2
Ans X 1.7 R

2K 2. TR ST

o 3. & Som

X AT ST

Question ID : 26433094470
Status : Answered
Chosen Option : 3

Q.44 F=faf@a 7 9 w=- forar dronef forar &2
Ans X 1.9

X 2. de

o 3. AT

X 4. o

Question ID : 26433094314
Status : Answered
Chosen Option : 3

Q.45 ‘Rfsar w1 aga== a1 ghm?
Ans X 1.ffsd

o 2. Rf

X 3. fafsars

X 4 fafsd

Question ID : 26433094424
Status : Answered
Chosen Option : 2

Q.46 ‘g’ =1 gl GfY-faede aur ghm?
Ans o 1.9d+ e

X 2.9g+ o

X 3. ga+ud

X 4w+ g

Question ID : 26433094466
Status : Answered
Chosen Option: 1
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Q.47 =& e & (1) vt (2) 5gere (3) A9 (4) 1 g ST arerr F a1 WL 1 HE A T gh?

Ans X 1.423,1
X 2.3214
X 3.1423
o 4.4321

Question ID : 26433094386
Status : Answered
Chosen Option: 4

Q.48 ‘Gg ATQ aa & U’ AT T HTet HI1-TT 87
Ans X 1. 99 wilsa

X 2. gmr wfasy

o 3. odogrq Wfas

X 4. g gdmE

Question ID : 26433094330
Status : Answered
Chosen Option : 3

Q.49 fF=fafEa d @ -1 ar g 82
Ans X 1. g 31T ST

2.3 3t s

& 3. T8 STTST STQ|

X 4. Y 377t I

Question ID : 26433094410
Status : Answered
Chosen Option : 3

Q.50 ‘Sit <hH STIET &' aTeiel & fAT U 2ree o 82
Ans X .98

o 2. 30T

X 3.9

X 4. gdgm

Question ID : 26433094460
Status : Answered
Chosen Option : 2

Q.51 Tt i gfe @ Fi=-ar 21z g e 8?2
Ans X 1. fdifea

X 2. e
o 3. omfA
X 4.6

Question ID : 26433094350
Status : Answered
Chosen Option: 3
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Q.52 ‘daHY frg ueR 1 fAgtwor &2
Ans X 1. uRaroraieres

X 2. GEEaraes
X 3. grdantae
" 4. U AT

Question ID : 26433094420
Status : Answered
Chosen Option: 4

Q.53 fA=faf@a d @ aga ereg AT 8?
Ans X 1.0

& 2.3
X338
X 4 T

Question ID : 26433094454
Status : Answered
Chosen Option : 2

Q.54 fF=fafEa d @ -1 aw g 82
Ans o 1. 87 3 9 foharel ug oft )
X 2. 83 3 I fonerrdl ug feam 1
X 3. 83 3 O fonerd ug & &
X 4. 53 3 O fohee ug R &)

Question ID : 26433094306
Status : Answered
Chosen Option : 1

Q.55 ‘sria’ forrent wataaT &2
Ans X 1.@d

o 2. STTRI

X 3. 9

X 449z

Question ID : 26433094336
Status : Answered
Chosen Option : 2

Q.56 f=fafEa & @ wi=-a1 arer g 82
Ans X 1.3 o S S )

o 2. P oI SR I T

X 3. e i i g M

X 4. e i afEar Iug TS|

Question ID : 26433094418
Status : Answered
Chosen Option : 4
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Q.57 ‘WA UG YT &' dATeRT <kl hTel T 82
Ans X 1. 9fqy adae

o 2. AThIIeIch adHT

X 3. guf o

X 4 9w gdaE

Question ID : 26433094434
Status : Answered
Chosen Option : 2

Q.58 f=fafEa # 9 sy guf fiF-ar 8?
Ans X 1.9
& 2.9
X3
X 4a

Question ID : 26433094324
Status : Answered
Chosen Option : 2

Ans o 1. 776
X 2.
X 3. g
X 4. afea

Q.59 f=faf@a & @ Fi=-ar 2reg ‘<igaT o1 gafgar 82

Question ID : 26433094338
Status : Answered
Chosen Option : 1

Ans o 1.3
K 2. SRS

& 3. e

X 4 gt

Q.60 ‘foreerT 5= Ui gorm &' arerian & foIq gep 2res oram 82

Question ID : 26433094354
Status : Answered
Chosen Option : 1

Ans o 1. 9f3al A
X 2. M s
X 3.7 fae
X 4. iR R

Q.61 ‘IA+ft & ueften sweer oref & forg Sugeh FeTawT w1 87

Question ID : 26433094362
Status : Answered
Chosen Option: 1
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Q.62 ‘TSI # <hi<I-TT 9HI 87
Ans o 1. 9508

X 2255

X 3.fq

X 4. et v

Question ID : 26433094360
Status : Answered
Chosen Option: 1

Q.63 fR=fafEa & @ wi=-ar 2reg aw 18 82
Ans X 1.7T8%h

K 2. mym

o 3.7

X 4. mH

Question ID : 26433094348
Status : Answered
Chosen Option: 3

Q.64 ‘gRIT foherent faeii 2reg 82
Ans X 1.urf=

o 2.0

X 3. R

< 4. g

Question ID : 26433094344
Status : Answered
Chosen Option : 2

Q.65 SOT SV gERl & Rl g? Reh =i & forg Sugrh 2res @ gim?
Ans X 1. s/

X 2. %
X 3.9
¥ 4

Question ID : 26433094334
Status : Answered
Chosen Option : 4
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Q.66
Ans

Comprehension:

AT TS 1 faehrer aoft Tera & Sa 397 Traeh 18t 7ot &l gt wra F oft fver & 1qoremn wR gftura
& At gIuH gHR gfuYy # Aften-arrer Y fRrem Y o we uRafad g &, Siet a8 e ot e §

fop oot Ugfa  fRrsat &t T THfad oft 1 SRt ofae o amem R 3l IufR gt oft | e a8 &
o5 BT hl THTHRAT TR gl ST TUTHDaT TR &7 foram ST 7|

frfafea geif & IR Sl merier & onuR R -

SubQuestion No : 66

Toghet A foheehT AT TaT STraT Um?
X 1. gezar e
o 2. 0T Rl
X 3. AgIES FI

& 4. G=HT

Question ID : 26433094390
Status : Answered
Chosen Option : 2

Q.67
Ans

Comprehension:

ATE GATST ol e aoft W97 & ST 397 aaeh fR1er 5ot Y 811 R 7 off fver & qora w gfeura
& At advue gaR gfuy & Afee-ahret Y Rien &t ofd we uRkefaia gidt 8, sef a 2@ @t e g
o Togpet ugfa & fRrat Y T Hfaa oft 1 IR ofde & smemR R I IufRRY gt oft | arerf g &
for BT chl H=ATHRAT UR a1 SfU OTHDhAT UR &1 T STl 1|

frfafed et & IR ST Merier & SR R -

SubQuestion No : 67

Treh fASIT T T ST 827

o 1. 3R e

X 2. crgaiaes fuer
X 3. sftu=nies frem
X 4. erioien fvem

Question ID : 26433094393
Status : Answered
Chosen Option: 1

Ans

Comprehension:

ATE TATST ol faenr doft Te1a & ST 39 awaeh frer g Y g1 TR 7 off frer & qoras w gftura
& At FIUH gAR gfRuY H Afte-arer Y fRienm A oy we uRaféa gid &, sief a8 3w &t e §
o o ugfa # fRrsat &t T A ot SRt ufaem o ameR w3l Ul gt oft | aread a8 8
foh @1l hl THTHRAT TR el SIfUg UTeHehar U= &A1= form S o7

FrfeIfEa vsif 3 SR IUh IR & STER W SISIg-

SubQuestion No : 68

Q.68 T&ghet # RSl & T T TR T UT?

501,98y

K2 9
o 3. Ul

K 4.

Question ID : 26433094391
Status : Answered
Chosen Option : 3
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Q.69

Ans

Comprehension:

ATE GATST ol e aoft T g ST 397 awaeh fR1er Ugor Y 811 R 7 off fver &t qqora w gfeura
o T FETYH gAR gRuY # Afken-aaret & e i B TE aRefard gid 8, STef a8 &@ &l Aear g
for ot ugfa & fRrsat Y T Hfaa oft 1 IR ufae & smemr w3l IufRR gt oft | arerf a8 &
for T chl HATHRAT UR a1 SAfU OTHhaT UR &1 T ST 2T

frafafed meil o IR Iud ey & SR R &g

SubQuestion No : 69
oot ugfa A fArsal it T e gt o2
1. g

o 2. %4
#< 3. 9gd sarar
X 4. wre

Question ID : 26433094389
Status : Answered
Chosen Option : 2

Q.70

Ans

Comprehension:
ATE GATST ol faemre aoft Tera & ST 39 awaeh frer g Y 811 TR 7 oft fver & oras w gfRua
R I TeTYH gAR gfRuy F Afken-ahret i fRren G B we uRafaa gid &, STef a8 3@ @l Aear §
o o ugla & frsat &t T A ot IhT ufam o smeR R 3T Ul it ot e g 8
for BT hl HATHRAT UR a1 SIfU OTeHhaTl TR &A1 T STl 7|
fafafea wel & 9 Iuds M & smaR R e
SubQuestion No : 70
‘SfY’ &1 FT AT 22

X 1.sfa

< 2. g

X 3.3
o 4.3

Question ID : 26433094392
Status : Answered
Chosen Option : 4

Q.71

Ans

Comprehension:

T, 1857 &Y e shifd = T8 af wnfira o & feam o foh sRaa st areft aen fafera wrowr aifteal o1 g
ISR T T, Goh UaieT faeefl dTehd o a7efie 'Ueh g’ o &0 # sy o et U= IR @7 UT| Jefy agf
Teh 9gd 991 9 I8 ot o1 3R oTRa & fafera &5 7 sienr-sren s arfhal off, sk syfes aendifen
Y H YA AT YR AL & T H IGh! UgdTH gH a1 ohe Tehd & | I Ueh faiy Fiepfaen, enfifes ofi
TTHTR A SIALRT I Toh 1G9 G | S1Teg el A |

i el & IR Swih Merer & SR R -

SubQuestion No : 71

e & Geof § -1 YA 9 87

X 1. R faeaft e o srefi am

X 2. IRd Hiteplaeh &9 9 Yok g A ofeT o7

o 3. 1857 9 qd YR H dichd o T

75 4.1857 T qd 9RA & STel71-37eT Toiifhar of |

Question ID : 26433094402
Status : Answered
Chosen Option : 3
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Q.72

Ans

Comprehension:

T 1857 <t TTex ehifd = T df TG e &1 AT o1 foh Raas St areft Ies fafe= wra el &1 gan
RHSIR T T, Goh Taie faeeft drerd o orefie ‘U g’ o w0 # sy o et o= IR 8T UT| Jefy agf
Teh 9gd 991 9 I8 ot o1 36 TR # fafera &3  srenr-sren s arfhat off, 8k syfes wendifen
Mg & &Y H AT 'Yk Y’ S TU H IGHh! UgdH gH -Tg! e Fehd & | TR Teh [ ipiciah, emfiich SR
T A SIALRT I Teh 1G9 G | S1eg el A

frfofed et & IR Swih Merier & SR R §fg-

SubQuestion No : 72
‘TeR’ oh1 T 3 g &2
X 1. s fagts
X 2. gl fagls
X 3. foram - fagle
o 4. 8 fagls

Question ID : 26433094405
Status : Answered
Chosen Option : 2

Comprehension:

T, 1857 hY e shifd = g af wfia & & feam o1 foh viRaa st areft aen fafer= wrswr aifhal 1 g
HHSR T AT, Teh Teie fageft drehd o orefi ‘geh g’ & w0 A fagy & ot iR IR 8T 1| Ferfy gt
Ueh 9gd 991 9 g5 it o1 & TRa # fafera &= 7 sremr-sren sy 1fhat off, 3R syfae eendifen
Y H TYH AT 'Yh AL H T H ITh! UgaH gH a1 ohe Tehd & | IRg Ueh faiy Fiwpfaen, enfifen ok
AT i SIAYURT I Goh 31T G | 3MTeg el A

frfafed el & IR Sl merier & onuR R -

SubQuestion No : 73

Q.73 §,1857 & a1& URd fay & 7ot R fhe &0 # IR @1 u1?

Ans

X1 e
o 2.7¢
X 3.2
K4 T

Question ID : 26433094401
Status : Answered
Chosen Option : 2
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Comprehension:
T, 1857 & TTex whifcl = g o Taifid o 8 feam o foh siRaad St sreft aen fafera wrsar aifwat &t g
PHESTIR T T, Ueh Uae fageft arehd o orefle ‘Tes g’ & w0 F fArsy o ot R I¥R g1 1| Fefy gt
Ueh 9gd 991 9 I8 it o1 &6 TR # a9 &5 7 sremr-sren sy a1fhal off, 8k snyfes aendifen
Y H Y H AT 'YH AL & T H IGh! UgH gH a1 ohe Tehd & | IR Ueh faiy Fiepfaens, enfifes ofik
ST Y SiAURT I Teh 31520 G H 3MTelg el A
frafafed meil & IIR Iud Ty & SR R &g
SubQuestion No : 74

Q.74 ‘T=aa’ o1 T Y &2

Ans X 1. &7

& 2. 99e
X 3.
o 4,998

Question ID : 26433094404
Status : Answered
Chosen Option: 4

Comprehension:
T, 1857 h e shifd = g aF wfid & 8 fea o1 foh sRae st areft aen fafe= wrwr aifhat 1 g
RIS T T, Teh Ueie fageft dreha & orefi ‘geh g’ & U A fagy & ot R IR @1 AT Jerfy gt
Ueh 9gd 991 9 Ig H o1 & wRa # fafera &= 7 srerr-sren sy arfhal off, 3R syfes eendifien
Y H TYH AT YR AL & T H ITch! UgaH g4 81 e Tehd & | IRg Ueh faiw Fiwpicen, enfifen o
T Y TR IY Teh 3150 T | S1Tag el 2|
FrforfEa sl & IR Sl Merier & onuR R -
SubQuestion No : 75

Q.75 '3ITeIg’ hT T ST &2

Ans X 1. FHER deH

o 2.35 YA
X 3. EY
5 4. Uchud

Question ID : 26433094403
Status : Answered
Chosen Option : 2

Q.76 ‘dg AT EY TR T It T &?
Ans o 1. TR a9 H

X 2. dfery admm

X 3. g adaE

X 4. arepifore adE

Question ID : 26433094438
Status : Answered
Chosen Option: 1
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Q.77 f=faf@a d @ siw-ar 21 Shifenr 82
Ans X 1.7AE

o 2. T

& 3. i

25 4. Tt

Question ID : 26433094320
Status : Answered
Chosen Option : 2

Q.78 ‘=g’ foheent faeiw 2res &2
Ans X 1.99H

K 2.3

o 3. M

X4 =

Question ID : 26433094452
Status : Answered
Chosen Option: 3

Q.79 ‘T A =2 =l Be1a @Y a1 A JGifehd 3§21 & hIF-TT FReh 87
Ans X 1. 301G

& 2. "6y

o 3. FH

& 4. "ueH

Question ID : 26433094426
Status : Answered
Chosen Option: 3

Q.80 dehsi (1) Aewmg (2) U< | (3) T (4) TR Fi (5) 3T (6) | Vg Wi arera A wh w@&AT (1) 3R
(2) & 9T, aATeRT TRTAT T Tl sHH T gIT?

Ans o 1.53,64
X 2.53,4,6
< 3.3,6,4,5
X 4.3,56,4

Question ID : 26433094488
Status : Answered
Chosen Option: 1



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

% 91 aTRT T Rl U@l shH T gRIT?
Ans X 1.634,5
o 2.56/43
% 3.3645
X 4.5436

Q.81 g (1) Tehed (2) T (3) Tefed (4) ek (5) STUAT (6) | IR Eisa arer & e T (1) 81k (2)

Question ID : 26433094382
Status : Answered
Chosen Option : 2

Q.82 fR=faf@a & @ aga o wiF-a1 82
Ans X 1.&E

X 2. dea

X 3. @Rk

o 4 T

Question ID : 26433094346
Status : Answered
Chosen Option : 4

Q.83 f=fafEa & 9 sreauTor s Hi-41 87
Ans 1.0

X 2.3

K 3B

X4

Question ID : 26433094322
Status : Answered
Chosen Option: 1

TE, TR TTAT el Tl shH T gIT?
Ans X 1.4,3,56
X 2.36,54
o 3.3,4,56
X 4.3,56,4

Q.84 3t (1) frenera (2) & (3) Frftere (4) omg (5) & (6) 1 g @f3d arer A whe ¥t (1) 3R (2) &

Question ID : 26433094486
Status : Answered
Chosen Option : 3



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.85 ‘gur foreent wafgardt §?
Ans X 1.&f

K249

o 3. 3

X A4 oh

Question ID : 26433094444

Status : Answered

Chosen Option: 3

Comprehension:
SIS STeT STATaRT 3R AT @ TAhR] IR RSt e 38 & 61 dherd o ITe! ST @kas i Jfuer &
3% e @ 21 gt ) A WIRdg gl &t eat 1 Ieg R useRIRar sfagra & e shifaert gear
21319 578 g I8 g&fe g [R@ms | 81 81! R g 7 &l S8 1" I7eh dchlei= WRa f[Rfd & 59
quie A 7 T fhat emfaa) & =6 TR oY /T R ST ot Haarer 947 feaT| I 39 g0y 6y
fofat & R & gogar g Aefferar @ fora & a1y €Y @ er, T qur s Y srerg St
frforfea usil & IR S Merier & omUR R §ifSe-
SubQuestion No : 86

Q.86 WRdg aRejs A frwehl srera wmd?

Ans X 1. TR 3R IreTafh
o 2. T SR qerfth
X 3. Tear R TR
X 4. T SR IeTAfh

Question ID : 26433094506

Status : Answered

Chosen Option : 2

Comprehension:
ST STET STATART SR Sl § USRI R fRIchol G 3¢ U Tg1 chetd oh (¥TTE! STUT TRa=t ehl afusT &
3¢ et 8 21 3¢ el # YIRdg gRkeis i eaT T I&g TR YR sfagrd & e shifdenrt ge
21 '3 1 ¢Eg 9% g @fe g [R@s| 87 81! 9Rd & 7 &l SIS 1’ 3eh et MR (R & 59
quie 3 7 T fha-t emfal & b TR oY 37T PR SITSATET ot Haarer 4T fem| I 39 THy ht
fofoat & R & gogar v Aefferar 3 fora & a1 &Y w@Rer, T qur s Y srerg St
fafafea mel & IR Iuds Merir & s R e
SubQuestion No : 87

Q.87 Trerizr & Ugwh ‘AdATAT hl 9T ST &2

Ans X 1. fa=ieft
o 2. ST
X 3. guds

5 4. Ui

Question ID : 26433094503

Status : Answered

Chosen Option : 3
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Q.88

Ans

Comprehension:

ST STET SHATARY 3R eIl & UFhRT R fRIchol e 38 & I8t chetd o RAumet sruf et &t afur &
3% el 5 21 53 el # YRAg gRes & aiaT T I&d TR USRI SfagTd # Gen shifdeht ge
21319 T 3wg 9€ g@fe g g g1 g1 vRa géan 7 3t S’ S dhtel v Ry & 5w
ol 3 7 T foha=t emfaat & 3k TOR &t ITfSId &R SITSTIET ol HdareT 9471 T 3614 39 99 &6
ot & R & gegar vd Aefferar @ fora= & Trer g w@er, e qur Srefs Y srerg St
frfafed el & IR ST Merer & SR R -

SubQuestion No : 88
‘afRer a1 o o glar 82
X 1.sf
X 2. v
o 3. T
X 4T

Question ID : 26433094505
Status : Answered
Chosen Option : 3

Comprehension:

SIS STET STTaRT 3R T @ TAhR] IR RISl e 38 & 81 dherd o ITTa! 7T axa=t hl afasr &
I TUeeT 36 &1 5 hel H MRAG SRS &l T T I&T WRATI TFCRTRAT SITeTH H Ueh Shifcleh<l TeT
81379 1 ¢wg 9 g@fe g s g1 g1 v géan 7 3t S|’ e dhTel i R RS & 39
quie 3 7 T fhd=T emfaat & 36 TR ol TSI PR SIS &l Aaarer 947 feaT| 3519 39 Iag &Y
foafai & R & goaar g Ffferdar @ foraw & arr & T, TS qoT 2:reyf<h 6l 3k SRl
Frfafed gsif & 3= Sl merier & onuR R -

SubQuestion No : 89

Q.89 ‘e & AT’ § fordenT daha &2

Ans

X 1. Rt ok e
< 2. arfdenr ofk Rifhegs
o 3. @S 3R TTAR
X 4. TSmar R ehifaert

Question ID : 26433094507
Status : Answered
Chosen Option: 3
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Comprehension:
ST STET STATaRT 3R eIl & USRI TR fRIchol o 38 & I8t chetd o fAuTet oruef et &t aftsr &
3% fUreeT T8 &1 3 hel H RAG RS &Y AT T I&T WRATI TFRTRAT 3ITeT | Ueh Shifcleh<t TeT
21319 1 3wg 9¢ g@fe g s g1 g v géan 7 3t S|’ e achTel R Y & 5w
guig 3 7 9 fohae) e 7 Toh OR ol IS R STISTIET ehT AdaTell ST f&aT| 361 I THT ht
foafat & R & gogar g Fefferdar @ fora & aryr & W, e quut 2ryfh 6l 3o SRl
fafafed meil & ITR Iudw ey & SR R &g
SubQuestion No : 90

Q.90 ‘fAHSIT HHAY' AT T I1AT &2

Ans X 1.%hg &
o 2.aUH AT
X 3. dIs ST

X 4. IR AT

Question ID : 26433094504

Status : Answered

Chosen Option : 2

Comprehension:

&4 ot Oeft e =gy, oo afe o, Al o ¢, I o foenr & ofk fores agsa emo (1)
R W gl Ah| §H SMaTchdT 39 o1 i & foh g7 At sifdierr & Tad= Tgaps oo+t (2) M 9ER
I fafor emaraf a1 SR ITh A1y g SS9 ofk uTTed fami o (3) F | g gifaes ok Tt
goff fremsit i smaxadar g, o Jemr-eet & gfg ok (4) 8!, o v et & forg AT
ART AR & Taet STUT STaaehdTst & (5) & foIq gt AT TR Toh SR SMMTdehTet & forg
o oft R T

ITYh TRl o MR WR fAfafad usit & s &g

SubQuestion No : 91
Q.91 erier & Reh == (1) & fAg Iugeh 21eg a1 ghm?
Ans X 1.0¢
K 2. 7%k
X 3. gt
o 4

Question ID : 26433094475

Status : Answered

Chosen Option : 4



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.92

Ans

Comprehension:

&8 ot Oaft e anfe, e afe a1, o=l st 93, I o1 faerm 81 ofk S wgsa smm= (1)

TR WS 8l k| g SMaTehdl 39 I1d i & foh g7 At sifdierr & Wd= g oo (2)_____ 94 Wer
I fafdr et @1 3R T a1 & Sisft amwT ok uryTeg famm & (3) &3 | gH gifen ofik Tt
qoft fremar i sasaehdr 8, o= IerT-eal &t g ofik (4) &1, o 7 et & forg ART-
ART R & Tt 31U 3raraehdrat 6 (5) & foie ygitd AT TR o 3R SMTTdehTet & forg
T oft R T

IR TEITRT & SMYR WR Afafad usii & 3R dfSie-

SubQuestion No : 92
Trerier & Rk I (2) & g SugRh 21 @ gim?
X 1@
X 2. =
X3.gm
o 4. TS

Question ID : 26433094476
Status : Answered
Chosen Option : 4

Q.93

Ans

Comprehension:

g4 o O fRrem =gy, fSad aRa o, Al o 98, e o faee gt ofk fores Agsa s1o= (1)
TR WS &l k| g SMaLaehdT 39 a1d i & foh g7 fadft sifdierr & e g oo (2)____ 914 Wer
I fafar smarar o1 3R T a1 & st arwT ok uryTeg famm @ (3) 3| gH Tifen ofik Tt
qoft frerar i smasaehdr 8, o= IervT-eel & g ofik (4) &1, o< 7y el & forg ART-
ART fheA & seet 37T Taaeharait &l (5)_ & forg gt haTs o Teh 3R SMmurdehiel & forg
Ty oft R T

IR TEITRT & SMYR IR fArfafRd gsii & SR e

SubQuestion No : 93

Trerier & Reh = (3) & g Iugh 21 @ ghm?
X 1. R
#5 2. fUrgenor
o 3. 3T

X 4. sgHm

Question ID : 26433094477
Status : Answered
Chosen Option : 3
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Q.94

Ans

Comprehension:

&d ot oht Rren wnfRy, oo afa o7, Al aa1 9, g o e &) ofk e 7gsa sro= (1)

R @ST & G| g6 STaTehdT 39 aTd i § foh g7 fadaft s1fder & wd= Tgame 9w (2)____ IH %8R
I fafera smareit o1 ok ITch TTer g S e ofR Uty formm @t (3) H | gH i ofiz oeft
qoft fRremar i smaaedr 8, o= SerT-eel &t gig ok (4) 1, foe A el & forg AT
AR fheAt & gt STt Saaeharsil 6 (5) & fore gafa sars o gos 3fiR smurderra & foag
Tgg oft R |

I9Yh TR o TR W Ffeifed usit & S -

SubQuestion No : 94
TTerier & Rk I (4) & fog SugRh 21 @ givm?
X1 T
o 2. T
X 3.89
25 4. UehIr

Question ID : 26433094478
Status : Answered
Chosen Option : 2

Q.95

Ans

Comprehension:

&H at Ol e anfe, e afe sm, 7=l st 93, I o1 faeem g1 ofk S wgsa sm= (1)

TR EST 8l k| §H ST 39 I1d i & foh g7 At sifdierr & Wdi= g 1o (2)____ 94 "eR
I fafera smarsit o1 ok ITch TTe g S e ofR Uty foarmm @t (3) HR | gH it ofik ot
qoft fremar i sasaehdr 8, o= IerT-ee &t gieg ofik (4) &), o v et & forg AR
ART R & Tt 7T Taaeharait &l (5)____ & forg uaitd ars o Teh 3R Smurdehie & forg
o oft R Td|

I9Yh TR o TR W FAfeifea usif & S SfSg-

SubQuestion No : 95
Trerier & Rk &I (5) & fog Sugeh 21 o givm?
o 1.9
X 2.%gfe
X 3.9
X 4wl

Question ID : 26433094479
Status : Answered
Chosen Option : 1
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Comprehension:

FHAF T GIAT (1) 1 g1 foneht off UehR &t T ud it 7139 Y Ueh faerah WR ahal off ASht &
Fehcl! &1 dehitenl O ¥R 39 I H §AR SITH-UT 131 o (2) 2, fodem gg fos gE=d at s €
TR gareit ol fAseita TR e B 11 gt &1 gaenet & 39 9g @ 39 hife i fRAyei, anfe ud g
T3 ol UT ST Ueh (3)____ &1 71T &1 Tl Td THTIRY aht GO et areft geprgal oy e
FaTell oh (4)_____ H AR 37T & | adae uRega | HifSar ere€ry & gl 8, e sifasrth el ghl
37T FHTART ! AHTAER T @il ch o9 (5)__ ST@T 8|

IRYh TMerier & YR R FAEfafad usi & s difSe-

SubQuestion No : 96
Q.96 erier & Rk w1 (1) & g Iuge 21eg ghm-
Ans X 1. 3fiEre

o 2. ifd
X 3. T
X 4 R

Question ID : 26433094367
Status : Answered
Chosen Option : 2

Comprehension:

FIAH G gFAT (1) <1 g1 fohelt oft UerR <l G gd arrift 7199 & Geh faereh WR el ot St
Fehel! &1 deheitenl O ¥R 39 I H §HAR SITH-UT 131t (2) 2, fodem gg fo gE=d at s €
TR garei ol fAseit TR e B 11 gt &1 gaenetl & 39 9g @ S hife i e, anfe ud g
TS ol U AT Ueh (3)____ a1 7T &1 gIT T THTIRY oht SO o areft genreat oy fee
TaTeil & (4)_____ & ToR et 1 o uResa & Hifean eraamg s It 8, e arfamEifn gt ghm
3T FHMIRT ! AHTIGR ST AT oh o1 (5) ST ET 2l

ITY<h RISl & YR WR Aferiad st & 3w &g

SubQuestion No : 97
Q.97 erier & Rk I (2) & g Iugeh 21eg ghm-
Ans X 1. 3WRUR

o 2. 3ER
KX 3. harE

X 4. TER

Question ID : 26433094368
Status : Answered
Chosen Option : 2
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Q.98

Ans

Comprehension:

A o g=T (1) &1 &1 foRet off TeRR Rl g1 G ATt ATSY hl Gen foTen WR ahal ot AT ST
Hendl &1 dehitenl & R 59 g A gHR SHTH-UTH G131 & (2)______ 8, fader a8 fof g f s &
TR TS BT A TR el & S gt &1 garet & 39 Tig I =9 hife i fayei, arde gd 7
3T Y T AT Uk (3) I T & | YT U GHTER ht AU e aTelt geptsat oy e
Tarelt & (4)_____ & o et 1 ada uResa & Hifear saaamg s+ go 8, e sifasmifts 7 g
STST FHTAR] Y AHTAGR FHTeR @Rl oh &t (5) KRG

ITYh TR o TR W FAfeifEd usif & S SfSg-

SubQuestion No : 98

Trerier & Rk wIH (3) & fog Sugeh 21eg ghm-
X 1.t
X 275
X 3. 7S

o 4 TAT

Question ID : 26433094369
Status : Answered
Chosen Option : 4

Q.99

Ans

Comprehension:

A T g (1) &1 &1 fonelt off TR hl g1 G ATt ATSY i Gen foTen WR ahal St AT ST
Fendl &1 dehitenl & R 39 g A §AR SHT-UTH G131 &t (2)______ &, fagen ag fof g f s &
TR AT T T TR e & S gt &1 gEret & 39 Tig & =4 hife i fayei, arede gd g
3T Y T AT Uk (3) T 7T & | AT U GHTIRT Bt URfNa e areft gersat oy iR
TaTelt & (4)_____ & o et 1 adae uResa & Hifear saaamg s+ ge @, e sfasmifts 7 g
STST FHTAR] Y AHTAGR FTeR N oh &t (5) STETEI

I9Yh IR o TR W FfeifEd usif & S difSg-

SubQuestion No : 99
TTerier & Rk I (4) & fog Sugeh 21es ghm-
< 1. it
o 2. TR
K 3w
X 49

Question ID : 26433094370
Status : Answered
Chosen Option : 2
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Comprehension:

FIAH g g1 (1) a1 81 fohelt oft uerR <l G ud arreft 7199 & Geh faeren IR gl off st S
Hendl &1 Iehitenl & R 39 T H §AR SITY-UTH G131l T (2) 2, fodem gg for gE=d at s €
TR garei ot fAsaii TR el & 17 gent &1 gEenaell & 39 g O I3 hife Y e, arefe vd g
TS Bl AT AT Qe (3)______ I T & | YT §d THTIR] ahl ST A aredt sehrsar og e
Tarell & (4) # TR arrcht &1 adAT uRgea # Hifsar srqamg o go &, wer sifarifs 7 g
3T FHTER] ! AHTAER T AT o o (5) STIET &1
IRYh Merier & SMYR R FAefafd usi & SR §ifSe-
SubQuestion No : 100

Q.100 Teriar & Rk I (5) 3 fArg Iugh 2reg ghm-

Ans X 1."@ar

< 2. e
X 3. @l
o 4.9

Question ID : 26433094371
Status : Answered
Chosen Option : 4

Section : General English

Q1 Choose the correct antonym for the given word.
mitigate
Ans X 1. sedate

« 2. agitate

X 3. placate

X 4. abate

Question ID : 26433094665
Status : Answered
Chosen Option : 2
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Q.2 Given below are four jumbled sentences. Select the option that gives their correct order forming a meaningful and
coherent paragraph.

A. Rising temperatures and drought conditions have caused serious problems for human populations all over the
world.

B. One area particularly affected by drought has been the central Spanish province of Caceres, where water levels in
the Valdecanas reservoir have dropped nearly 30%,

C. Some dramatic changes in landscape brought on by lowering water levels, though, have also led to a number of
notable discoveries.

D. As aresult, a fascinating site from near pre-history has been recovered here, as per Reuters.

Ans X 1. DBAC
+ 2 ACBD
X3 ADCB
#< 4 BDAC

Question ID : 26433094594
Status : Answered
Chosen Option : 2

@3 Fill in the blank with the most appropriate word.

The refugees to us for help.

Ans

X 1. appeased
X 2. desired

X 3. demanded
« 4. appealed

Question ID : 26433094653
Status : Answered
Chosen Option: 4

Q.4 Aurange the sentences in the correct sequence to form a coherent paragraph.

A. Their work is both unrecorded and largely unrecognised, even though in some parts of the world they
handle as much as 20% of all waste.

B. Among those suffering from the global recession are millions of workers, who are not even included in
the official statistics

C. In the developed countries they are the preferred ones since they recycle waste much more cheaply and
efficiently than government or private corporations carn.

D. These are the trash pickers. sorters and traders who extricate paper, cardboard and plastics from garbage
heaps and prepare them for reuse.

Ans X 1. BCAD
+ 2 BDAC
X< 3. DACB
X 4 DCAB

Question ID : 26433094703
Status : Answered
Chosen Option : 2
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Q5 gelect the correct active form of the given sentence.

It should be understood by people that it is not always possible to win.

Ans X 1.

People need to understand that winning is not always possible.
2

People should understand that it is not always possible to win.
X 3.

People have to understand that it was not always possible to win.

X 4. People can understand that it is not always possible to win.

Question ID : 26433094530
Status : Answered
Chosen Option : 2

Q6 Select the correct active voice for the given sentence.

Paddy will have been sown by the farmers before the rains.

Ans 1. The farmers will be sowing the paddy before the rains.
X 2. The farmers would sow the paddy before the rains.
+ 3. The farmers will have sown the paddy before the rains.
X 4. The farmers will sow the paddy before the rains.
Question ID : 26433094635
Status : Answered
Chosen Option: 3
Q7 Choose the correct synonym for the given word.
squalor
Ans

X 1. treachery
X 2. splendour
X 3. luxury

« 4 filthiness

Question ID : 26433094659
Status : Not Answered
Chosen Option : --
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Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to forma
meaningful and coherent paragraph.
P. Its role in human nutrition was not fully known.
Q. This has resulted in a better appreciation of the role of fibrous food in human health.
R. Later research has thrown light on many other ingredients that are digested by man and have more fibres.

S. In early days, people only knew that this fibre prevented constipation.

Ans 1. RSQP
X 2. QRSP
X 3. PSQR
« 4. SPRQ

Question ID : 26433094697
Status : Answered
Chosen Option : 4

Q.9 Select the segment which has a grammatical error in the given sentence. If there is no error, select No error'.

One of my friends have a house in Shimla.

Ans 1. One of my
X 2. in Shimla.
+ 3. friends have a house
X 4. No error

Question ID : 26433094518
Status : Answered
Chosen Option : 3

Q.10 Given below are four jumbled sentences. Select the option that gives their correct order forming a meaningful and

coherent paragraph.

A. We have spent over 4000 hours guiding over the past 8 years.

B. The Pilanesberg National Park in South Africa is one of the best wildlife experiences in terms of the abundance
of wildlife that can be found there.

C. We've witnessed the gore and bloodshed of a lion taking down an impala.

D. And yes we have basically seen it all.

Ans 1. BADC

X 2. BCDA
X< 3. ACBD
X 4 CABD

Question ID : 26433094598
Status : Answered
Chosen Option: 1
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Q.11

Select the correct passive voice for the given sentence.

How can you light a fire if you have no matches?

Ans 1. How is a fire being lit if you have no matches?

X 2. How has a fire been lit if you have no matches?

X 3. How will a fire be lit if you have no matches?

+ 4 How can a fire be lit if you have no matches?

Question ID : 26433094641
Status : Answered
Chosen Option: 4

Q.12 Aprange the sentences in the correct sequence to form a coherent paragraph.

Ans

A. The complex had a huge tree growing right in the centre of the compound.
B. One day a builder decided to chop it off and build a swimming pool in its place.
C. The residents hung swings on it. fed the birds and squirrels that resided in it.

D. Several families lived in a posh residential complex.

+ 1. DACB
< 2. DABC
X 3. CDBA
<4 ABDC

Question ID : 26433094699
Status : Answered
Chosen Option: 1

Q.13

Ans

Select the most appropriate option to fill in the blank.

Both the parties willbe  benefitted by this deal in the long run.
« 1. mutually

X 2. agreeably

X 3. respectively

& 4. unilaterally

Question ID : 26433094550
Status : Answered
Chosen Option: 1
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Q.14 Tdentify the segment in the sentence which contains the grammatical error.

It is her knowledge of computers that interest me.

Ans X 1. Tt is her
X 2. computers that

+ 3. Interest me.
X 4. knowledge of

Question ID : 26433094623
Status : Answered
Chosen Option : 3

Q.15 Substitute the underlined segment with the most appropriate option. If no substitution is required, select “No

substitution’.

Eight African cheetahs are fieely to reach Kuno Palpur National Park on 17k September.

Ans 1. are fairly

# 2. No substitution

X 3. are exactly

« 4. are likely

Question ID : 26433094707
Status : Answered
Chosen Option: 4

Q16 gelect the most appropriate indirect form of the given sentence.

Mother said to Shivani, “Don’t be nervous. You will be alright.”

Ans X 1.
Mother told Shivani that she should not be nervous and that she will be alright.

X 2.
Mother asked Shivani why she was nervous and told her that she would be alright.

o 3.
Mother told Shivani not to be nervous and comforted her by saying that she would be alright.
X 4.

Mother warned Shivani not to be nervous and said that you will be alright.

Question ID : 26433094544
Status : Answered
Chosen Option: 3
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Q.17

Select the correct indirect speech for the given sentence.

He said, “Have I acted wisely?”

Ans 1. He asked if he has acted wisely.
X 2. He asked if he acted wisely.
+ 3. He asked if he had acted wisely.
X 4. He asked that if he had acted wisely.
Question ID : 26433094647
Status : Answered
Chosen Option : 3
Q.18 1dentify the segment in the sentence which contains the grammatical error.
He wished he listened to his mother’s advice.
Ans 1. He wished
+ 2. he listened
# 3. to his
X 4. mother’s advice.
Question ID : 26433094627
Status : Answered
Chosen Option : 2
Q.19 Select the most appropriate option to fill in the blank.

Ans

Before going on a trip, T always preparean ~ of things I would need there.
« 1. Inventory

X 2. proposal

X 3. itinerary

X 4. schedule

Question ID : 26433094548
Status : Answered
Chosen Option : 1
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Q.20

Select the most appropriate antonym of the given word.

BLAME
Ans X 1. complain

+ 2. compliment

X 3. criticize

X 4. condemn

Question ID : 26433094558
Status : Answered
Chosen Option : 2

Q21 Select the most appropriate idiom to fill in the blank.

I have often seen her her classmates over small issues.
Ans 1. picking a quarrel with

X 2. taking time out

X 3. picking her way to

X 4. taking stock of

Question ID : 26433094566
Status : Answered
Chosen Option: 1

Q22 gelect the correct passive form of the given sentence.

You always keep me waiting.
Ans

+ 1. I am always kept waiting by you.
X 2. T have always been kept waiting by you.
# 3. Tam always being kept waiting by you.

& 4. You are always kept waiting by me.

Question ID : 26433094536
Status : Answered
Chosen Option: 1
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Ans

Q23 gelect the correct indirect speech for the given sentence.

He will say, “I am ready for school.”

# 1. He says that I am ready for school.

X 2. He will say that he was ready for school.
+ 3. He will say that he is ready for school.
X 4. He said that he was ready for school.

Question ID : 26433094649
Status : Answered
Chosen Option : 3

Q24 gelect the correct active form of the given sentence.
My grandfather built this water-tank in 1950.
Ans X' 1. This water-tank has been built by my grandfather in 1950.
« 2. This water-tank was built by my grandfather in 1950.
X 3. This water-tank was being built by my grandfather in 1950.
X 4. My grandfather had been building this water-tank in 1950.
Question ID : 26433094532
Status : Answered
Chosen Option : 2
Q.25

Ans

Select the most appropriate direct form of the given sentence.

Maya asked Shashi if she was enjoying her stay in Paris.
Al
Maya said to Shashi. ““Are you enjoying your stay in Paris?”
X 2. Maya said to Shashi. “Did you enjoy your stay in Paris?”
X3
Maya said to Shashi. *You have been enjoving your stay in Paris.”

X 4. Maya said to Shashi. “*She was enjoying her stay in Paris.”

Question ID : 26433094540
Status : Answered
Chosen Option : 1
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Q26 gelect the most appropriate synonym of the given word.

INCIDENT
Ans X 1. extent
¥ 2. event
X 3. facet
< 4. aspect

Question ID : 26433094552
Status : Answered
Chosen Option : 2

Q27 Fill in the blank with the most appropriate word.

Modern man has more  and less time.
Ans 7 1. amenities

X 2. glevations

X 3. renovations

X 4 faculties

Question ID : 26433094655
Status : Not Answered
Chosen Option : --

Q.28 substitute the underlined segment with the most appropriate option. If no substitution is required, select “No
substitution’.

India’s rice exports rised sharply in the last quarter.

Ans X' 1. No substitution
« 2. rose

X 3. risen
A 4. have rose

Question ID : 26433094705
Status : Answered
Chosen Option: 4
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Ans

I read a novel by Sydney Sheldon within my illness.
X 1. Tread a novel

X 2. No error

+ 3. within my illness.

X 4. by Sydney Sheldon

Q.29 Select the segment which has a grammatical error in the given sentence. If there is no error, select No error'.

Question ID : 26433094520
Status : Answered
Chosen Option : 3

Ans

We are going for a swim in the Ganga if vou like it or not.

X< 1. We are going
« 2. if you like it or not.
X 3. for a swim in the Ganga

K 4. No error

Q.30 select the segment which has a grammatical error in the given sentence. If there is no error, select No error'.

Question ID : 26433094524
Status : Answered
Chosen Option : 2

Q.31

Ans

Choose the correct synonym for the given word.

cordial

X 1. grateful
X 2. gross

« 3. gracious

X 4. greedy

Question ID : 26433094657
Status : Answered
Chosen Option: 1
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Q.32

Ans

Select the correct passive voice for the given sentence.

She invited me for the party.

# 1. T have invited her for the party.
X 2. Tam inviting her for the party.
+ 3. I'was invited for the party.

X 4. Tam invited for the party.

Question ID : 26433094637
Status : Answered
Chosen Option : 3

Q33 gelect the correct indirect speech for the given sentence.
She said to us, “I am hungry. Let’s eat something.”
Ans X 1.
She said that I am hungry and suggested that we should eat something.
X2
She said that she was hungry and suggested us that they should eat something.
&~ 3.
She said that she was hungry and suggested that let’s eat something.
4
She said that she was hungry and suggested that we should eat something.
Question ID : 26433094651
Status : Answered
Chosen Option : 4
Q34 Select the correct meaning of the given idiom.
go through a rough patch
Ans

A 1. to meet with an accident
X 2. to be lost

« 3. to experience problems
# 4. to take a bad road

Question ID : 26433094669
Status : Answered
Chosen Option : 3
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Q.35

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

substitute it, select ‘no substitution required”.

She got all wet even though she was carrving an umbrella.

Ans X 1. even if
X 2. because
+ 3. no substitution required
X 4. in case
Question ID : 26433094602
Status : Answered
Chosen Option: 3
Q36 gelect the most appropriate synonym of the given word.
RUSHED
Ans 1. pressed
X 2. crushed
X 3. packed
X 4 slowed
Question ID : 26433094554
Status : Answered
Chosen Option: 1
Q.37 Choose the most appropriate option to arrange the sentences in the correct order to form a meaningful paragraph. The

Ans

first and the last sentences ($1/56) have been given.

S1. Going to the Sun Road is one of Glacier National Park’s biggest attractions, and is reputedly one of the most scenic
drives in the world.

A. There are plenty of places along the way to pull over and appreciate the view.

B. Its 50-mile length is fully paved but with twisting turns and two narrow lanes, requires careful driving.
C. Grizzly bears, bighorn sheep, and mountain goats can also be spotted from the road.

D. It takes around two hours to drive the full route without stopping.

S6. Parts of the road are closed throughout the winter months for safety as it is exceptionally difficult to snowplow
there.

+ 1. BDAC
X2 ACBD
X< 3. DBCA
X4 BACD

Question ID : 26433094592
Status : Not Answered
Chosen Option : --
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Q.38

Ans

Select the most appropriate synonym of the given word.

PREROGATIVE
« 1. privilege
X 2. liability

X 3. obligation
X 4 duty

Question ID : 26433094556
Status : Not Answered
Chosen Option : --

Q.39

Ans

Select the correct direct speech for the given sentence.

Mona said to Preeti, “I am going to Kolkata next week.”
& 1. Mona told Preeti that I was going to Kolkata next week.

X 2. Mona told Preeti that she was going to Kolkata next week.

& 3.
Mona told Preeti that she was going to Kolkata the following week.

X 4.
Mona told Preeti that I am going to Kolkata the following week.

Question ID : 26433094643
Status : Answered
Chosen Option: 3

Q.40

Ans

Identify the segment in the sentence which contains the grammatical error.

Not only did he sell his house but as well squandered his father’s money.

X 1. sell his house
« 2. but as well
X 3. Not only did he

X 4. squandered his father’s money.

Question ID : 26433094629
Status : Answered
Chosen Option : 2
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Q41 Select the most appropriate meaning of the given idiom.

stand your ground

Ans X 1. stay at one place
« 2. refuse to change your opinion

# 3. be in a comfortable situation
X 4. support your friends

Question ID : 26433094564
Status : Answered
Chosen Option : 2

Q42 gelect the passive active form of the given sentence.

The school not only fined him but also expelled him for misbehavior.
Ans X 1.
He has not only been fined by the school but has also expelled for misbehavior.
o 2.
He was not only fined by the school but also expelled for misbehavior.
X 3.
He will not only be fined by the school but will also be expelled for misbehavior.
X 4.
He is not only fined by the school but also expelled for misbehavior.

Question ID : 26433094534
Status : Answered
Chosen Option : 2

Q43 gelect the most appropriate indirect form of the given sentence.

Mohan said, “Rakesh always means what he says.”
Ans 1. Mohan told that Rakesh always means what he says.
# 2. Mohan said that Rakesh always means what he said.
X 3. Mohan said that Rakesh always meant what he says.

+ 4 Mohan said that Rakesh always means what he says.

Question ID : 26433094538
Status : Answered
Chosen Option : 3
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Q.44 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

substitute it, select *no substitution required”.

Avika was delighting from the gift vou brought for her.

Ans 1. no substitution required
& 2. has delighted about
X 3. is delighted from
« 4. was delighted with

Question ID : 26433094600
Status : Answered
Chosen Option : 4

Q45 Choose the correct antonym for the given word.

faint

Ans X1 hazy
< 2 dull
+ 3. firm
X 4 dim

Question ID : 26433094663
Status : Answered
Chosen Option: 3

Q46 gelect the correct active form of the given sentence.

One to one mentorship is provided to the students by our Academy.

Ans X 1.
Our Academy has provided one to one mentorship to the students.

X2
Our students are providing one to one mentorship to the Academy.

3
Our Academy provides one to one mentorship to the students.

X 4.
Our Academy is providing one to one mentorship to the students.

Question ID : 26433094528
Status : Answered
Chosen Option: 3
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Q47 1dentify the segment in the sentence which contains the grammatical error.

Your sister will look after your son in your absence, isn’t it?
Ans 1 sn’t it?

X 2. look after vour son

X 3. in your absence,

A 4 Your sister will

Question ID : 26433094625
Status : Answered
Chosen Option: 1

Q.48 Aurange the sentences A-D in the correct sequence to form a coherent paragraph. S1 and S6 are the first and last

sentences.
S1 The Trojan War is one of the most famous wars in history.

A. What may not be familiar, however, is the story of how the war began.
B. All of the gods and goddesses had been invited to the wedding celebration in Troy except Eris, goddess of discord.
C. It is well known for the 10-year duration, for the heroism of a number of legendary characters, and for the Trojan

horse.
D. According to Greek myth, the strife between the Trojans and the Greeks started at the wedding of Peleus and Thetis.

$6 To take revenge on those who had slighted her, Eris decided to cause a skirmish.
Ans 1. CADB
X2 ABDC
X3 ADCB
X 4 CDBA

Question ID : 26433094695
Status : Answered
Chosen Option: 1

Q49 gelect the correct active voice for the given sentence.

The job may be done by you.
Ans 1. You might have done the job.
X 2. You may be doing the job.
+ 3. You may do the job.
X 4. You might do the job.

Question ID : 26433094633
Status : Answered
Chosen Option: 3
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Ans

Q50 gelect the most appropriate indirect form of the given sentence.

Father said. “They are late for the train.”

# 1. Father told that they are late for the train.
# 2. Father said that they are late for the train.
+ 3. Father said that they were late for the train.

X 4. Father told that they were late for the train.

Question ID : 26433094542

Status :
Chosen Option :

Answered
3

Q.51

Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen,a1.___he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7.
declared ruler of the realm. And while he appeared as 8.
you could see tears glistening in 9.
when onlookers shouted, "God 10.
he goes.

being

as ever, if you looked closely,

eyes. The moment that moved him so deeply was

the King." The words are being chanted everywhere

SubQuestion No : 51
Select the most appropriate option to fill in the blank
No. 1.
X1 tick
A 2. minute
< 3. second

« 4. moment

Question ID : 26433094579
Status : Not Answered
Chosen Option : --
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Q.52

Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7.
declared ruler of the realm. And while he appeared as 8.
you could see tears glistening in 9.
when onlookers shouted, "God 10.
he goes.

being

as ever, if you looked closely,
eyes. The moment that moved him so deeply was

the King." The words are being chanted everywhere

SubQuestion No : 52

Select the most appropriate option to fill in the blank
No. 2.

# 1. become
+ 2. became

X 3. to becoming

X 4. becomes

Question ID : 26433094580
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.
It couldn't have been easy for King Charles to lose his mother, the Queen,a1.____he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.
Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,
you could see tears glisteningin 9. ______ eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.
SubQuestion No : 53
@53 Select the most appropriate option to fill in the blank
No. 3.
Ans X 1. minor

X 2. slight

« 3. major

X 4. petty

Question ID : 26433094581
Status : Answered
Chosen Option: 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us willever4. ______. So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public

6. after his official proclamation.
Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,

eyes. The moment that moved him so deeply was

you could see tears glistening in 9.
the King." The words are being chanted everywhere

when onlookers shouted, "God 10.
he goes.

SubQuestion No : 54

Q54 Select the most appropriate option to fill in the blank
No. 4.
Ans 7 1. understand
X 2. know
X 3. remember
X 4. recall
Question ID : 26433094582
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.
It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.
Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,
you could see tears glistening in 9. eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.
SubQuestion No : 55
Q55 Select the most appropriate option to fill in the blank
No. 5.
Ans 1. appeared
/< 2. appear
/< 3. appears
X 4. appearing
Question ID : 26433094583
Status : Answered

Chosen Option

|
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being

declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,

you could see tears glistening in 9. eyes. The moment that moved him so deeply was

when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 56

Q56 Select the most appropriate option to fill in the blank
No. 6.

Ans 1. appearances
X 2. attendances
# 3. arrivals
X 4. advents

Question ID : 26433094584
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen,a1.______he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,
you could see tears glisteningin 9. ______ eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 57

Q57 Select the most appropriate option to fill in the blank
No. 7.

Ans 1. after
X 2. when
X 3. before
X 4. until

Question ID : 26433094585
Status : Answered
Chosen Option: 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7.
declared ruler of the realm. And while he appeared as 8.
you could see tears glistening in 9.
when onlookers shouted, "God 10.
he goes.

being

as ever, if you looked closely,

eyes. The moment that moved him so deeply was

the King." The words are being chanted everywhere

SubQuestion No : 58

Q58 Select the most appropriate option to fill in the blank

Ans

No. 8.

« 1. composed
X 2. repressed
X 3. stressed
X 4. quieted

Question ID : 26433094586
Status : Answered
Chosen Option: 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.
It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.
Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being
declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,
you could see tears glistening in 9. eyes. The moment that moved him so deeply was
when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.
SubQuestion No : 59
@59 Select the most appropriate option to fill in the blank
No. 9.
Ans X' 1. one’s

X 2. their

X 3. him

+ 4 his

Question ID : 26433094587
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

It couldn't have been easy for King Charles to lose his mother, the Queen, a 1. he
admitted he'd been "dreading," the same day he 2. sovereign of Britain. The confluence
of these two 3. life events is not something most of us will ever 4. . So, it's no
wonder that the grieving monarch 5 to be very emotional during one of his first public
6. after his official proclamation.

Today, September 10, 2022 King Charles arrived at Buckingham Palace 7. being

declared ruler of the realm. And while he appeared as 8. as ever, if you looked closely,

you could see tears glistening in 9. eyes. The moment that moved him so deeply was

when onlookers shouted, "God 10. the King." The words are being chanted everywhere
he goes.

SubQuestion No : 60

Q60 Select the most appropriate option to fill in the blank
No. 10.

Ans 1. Save
< 2. Defend
X 3. Rescue

X 4. Liberate

Question ID : 26433094588
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIl (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 61

Q61 Select the most appropriate option to fill in blank

No.l.

Ans X1 marked
X 2. scheduled
X 3. prepared

« 4 foreseen

Question ID : 26433094684
Status : Answered
Chosen Option: 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIl (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 62

Q62 Select the most appropriate option to fill in blank

No.2.
Ans X 1. retired
X 2. resigned

~ 3. abstained
+ 4 abdicated

Question ID : 26433094685
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) ______ she would become monarch but in December 1936 her uncle,

Edward VilI, (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 63

Q63 Select the most appropriate option to fill in blank
No.3.

Ans X 1. holder
X 2. master
« 3. heir
X 4. payee

Question ID : 26433094686
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) ______ she would become monarch but in December 1936 her uncle,
Edward VIII, (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.
After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8)
Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was
serving in the Royal Navy. Their romance (10) and the couple married at Westminster
Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 64

Q64 Select the most appropriate option to fill in blank

Ans

No.4.

X1 of
o 2. at
X< 3. by
X< 4 on

Question ID : 26433094687

Status : Answered

Chosen Option : 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21
April 1926.
Few could have (1)

she would become monarch but in December 1936 her uncle,
Edward VIl (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.
Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.
After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8)
Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was
serving in the Royal Navy. Their romance (10) and the couple married at Westminster
Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 65

Q65 Select the most appropriate option to fill in blank

Ans

No.5.

X 1. was spending
X 2. spend

« 3. spent

X 4. spends

Question ID : 26433094688

Status : Answered

Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIl (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 66

Q66 Select the most appropriate option to fill in blank
No.o.

Ans X 1. denied
X 2. returned
X 3. abandoned
« 4. rejected

Question ID : 26433094689
Status : Answered
Chosen Option: 1
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21
April 1926.
Few could have (1)

she would become monarch but in December 1936 her uncle,
Edward VIl (2) the throne. Elizabeth's father became King George VI and, at age 10,
Elizabeth became (3) to the throne.
Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger
sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.
After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began
to (7) the esprit de corps that flourishes in the face of (8)
Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was
serving in the Royal Navy. Their romance (10) and the couple married at Westminster
Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 67

Q67 Select the most appropriate option to fill in blank

Ans

No.7.

X 1. explain

X 2. identify
« 3. appreciate

X 4. Imagine

Question ID : 26433094690

Status : Answered

Chosen Option : 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIl (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 68

Q68 Select the most appropriate option to fill in blank
No.8.

Ans X 1. serenity
X 2. prosperity
« 3. adversity
X 4. simplicity

Question ID : 26433094691
Status : Answered
Chosen Option : 1



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIl (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 69

Q69 Select the most appropriate option to fill in blank

Ans

No.9.

X 1. reviewed
« 2. exchanged
X 3. replaced

X 4. compared

Question ID : 26433094692
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

The Queen of the U.K. was born Elizabeth Alexandra Mary Windsor, in Mayfair, London, on 21

April 1926.

Few could have (1) she would become monarch but in December 1936 her uncle,

Edward VIl (2) the throne. Elizabeth's father became King George VI and, at age 10,

Elizabeth became (3) to the throne.

Within three years, Britain was (4) war with Nazi Germany. Elizabeth and her younger

sister, Princess Margaret, (5) much of wartime at Windsor Castle after their parents (6)
suggestions that they be evacuated to Canada.

After turning 18, Elizabeth spent five months with the Auxiliary Territorial Service. She began

to (7) the esprit de corps that flourishes in the face of (8)

Through the war, she (9) letters with her third cousin, Philip, Prince of Greece, who was

serving in the Royal Navy. Their romance (10) and the couple married at Westminster

Abbey on 20 November 1947, with the prince taking the title of Duke of Edinburgh.

SubQuestion No : 70
Q70 Select the most appropriate option to fill in blank
No.10.

Ans 1. blossomed
X 2. accomplished
X 3. shriveled
X 4. exploded

Question ID : 26433094693
Status : Answered
Chosen Option: 1

Q.71 Given below are four jumbled sentences. Select the option that gives their correct order forming a meaningful and
coherent paragraph.

A. Mohenjo Daro is an ancient civilization in the heart of Pakistan that cropped up on the Indus river 4,500 years
ago.

B. It was discovered in the 1920s after mysteriously disappearing 4,000 years ago. according to National
Geographic.

C. The immaculately planned city, with endless rows of baked brick walls, was considered the "first great urban
center” of the Indus Valley civilization and had complex drainage systems to address ancient floods.

D. Remnants of the city include bronze statues, pottery and a pool called the Great Bath.

Ans X' 1. BADC
« 2 ABDC
< 3. CDAB
X4 ACBD

Question ID : 26433094596
Status : Answered
Chosen Option : 4
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Q.72

Ans

Select the correct meaning of the given idiom.

wear someone out
X 1. to boast

+ 2. to exhaust
X 3. to ridicule
X 4. to pretend

Question ID : 26433094667
Status : Answered
Chosen Option : 4

Q.73

Ans

Select the correct active voice for the given sentence.

Is too much being taken for granted?

# 1. Have they taken too much for granted?
« 2. Are they taking too much for granted?
X 3. Did they take too much for granted?
X 4. Do they take too much for granted?

Question ID : 26433094636
Status : Answered
Chosen Option : 2

Q.74

Ans

Select the most appropriate indirect form of the given sentence.

Mrs Kapoor said to Bhawna, “Put these woollens in the sun today.”

x 1.
Mrs Kapoor told Bhawna that put these woollens in the sun today.

X2
Mrs Kapoor told Bhawna to put these woolens in the sun that day.

X 3.
Mrs Kapoor told Bhawna that you should put those woollens in the sun that day.

4
Mrs Kapoor told Bhawna to put those woollens in the sun that day.

Question ID : 26433094546
Status : Answered
Chosen Option: 4
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Q75 1dentify the segment in the sentence which contains a grammatical error.

If T were a cartoonist, I have drawn cartoons of all my friends.

Ans X 1. cartoons of

+ 2. T have drawn

X 3 If I were

X 4. all my friends.

Question ID : 26433094631
Status : Answered
Chosen Option : 2
Q76 gelect the option that completes the given idiom correctly.
A bird in hand is worth

Ans

# 1. some in the tree

X 2. two in the ground
+ 3. two in the bush

# 4. many in the forest

Question ID : 26433094562
Status : Answered
Chosen Option: 3

Q.77 Identify the segment in the sentence which contains a grammatical error. If there is no error, then select the option No
error'.

Jawaharlal Nehru was a scholar as well a statesman.

Ans  X'1. No error

+ 2. as well a statesman
/3. Jawaharlal Nehru
X 4. was a scholar

Question ID : 26433094526
Status : Answered
Chosen Option : 2
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Q78 (Choose the correct synonym for the given word.

threaten
Ans 1. intimidate
X 2. alleviate
X 3. adjudicate
# 4 commend
Question ID : 26433094661
Status : Answered
Chosen Option: 1
Q79 gSelect the correct passive voice for the given sentence.
Let her lead the team.
Ans 1. Let the team be led by her.
# 2. Let her team lead her.
& 3. The team should be led by her.
X 4. She should have led the team.
Question ID : 26433094639
Status : Answered
Chosen Option : 1
Q80 gelect the most appropriate antonym of the given word.
COGENT
Ans

« 1. impotent
X 2. compelling
X 3. persuasive

X 4. forceful

Question ID : 26433094560
Status : Not Answered

Chosen Option : --
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Q.81 Select the segment which has a grammatical error in the given sentence. If there is no error, select No error'.

My brother has been waiting for his placement since two months.
Ans 1. No error
X 2. for his placement

# 3. My brother has been waiting

" 4 since two months.

Question ID : 26433094522
Status : Answered
Chosen Option : 4

Q82 gelect the correct meaning of the given idiom.

with a fine tooth comb
Ans 1 to examine in great detail

XA 2. to watch from a distance

X 3. to ignore someone’s faults

X 4. to win by a huge margin

Question ID : 26433094671
Status : Answered
Chosen Option: 1

Q.83 Choose the most appropriate option to arrange the sentences in the correct order to form a meaningful paragraph. The
first and the last sentences (S1/S6) have been given.

S1. Aman and a young teenage boy checked into a hotel in Delhi and were shown to their room.

A. The staff again noticed that the two guests were very quiet, and that the boy seemed uninterested in his food.
B. The receptionist noted the quiet manner of the guests and the pale appearance of the boy.

C. He didn’t want to eat anything.

D. Later, the man and boy went to have their dinner at the restaurant.

S6. After having their dinner, the boy went to his room and the man went to the receptionist and asked her to let him
meet the manager.

Ans 1. DBAC
< 2. ABCD
+ 3 BDAC
X 4 CABD

Question ID : 26433094590
Status : Answered
Chosen Option : 1



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q84 gelect the carrect direct speech for the given sentence.

She exclaimed with wonder that it was a wonderful piece of art.
Ans 1. She said, “It was a wonderful piece of art.”
& 2. She said, *“What a wonderful piece of art it was?”
« 3. She said, “Wow! What a wonderful piece of art.”

X 4. She said, “Alas! A wonderful piece of art.”

Question ID : 26433094645
Status : Answered
Chosen Option : 3

Q.85 Arrange the sentences in the correct sequence to form a coherent paragraph.

A.only 10% of global gold deposits contain sufficient gold to justify further development.
B. The likelihood of a discovery leading to a mine being developed is very low.

C. It requires significant time, financial resources and expertise in many disciplines.

D. Gold mine exploration is challenging and complex.

Ans 1. DCBA
#< 2. BDAC
X3 ABCD
X< 4 DABC

Question ID : 26433094701
Status : Answered
Chosen Option : 4
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Comprehension:

Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it,” said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.

SubQuestion No : 86

Q86 What kind of a passage is it?

Ans

X 1. a magazine article

+ 2. a news item
# 3. a student’s notes

/4. asurvey repolt

Question ID : 26433094617

Status : Answered

Chosen Option : 4
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Q.87

Ans

Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it,” said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.

SubQuestion No : 87

Which of the following is NOT necessary to grow
a micro forest?

X 1. Eight to nine months of care of the planted saplings

Planting three or four varieties of saplings in a fairly
dense manner
+ 3. Arable land and sufficient rainfall

X 4. Native varieties of saplings adapted to local conditions

x 2

Question ID : 26433094620
Status : Answered
Chosen Option: 3
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Q.88

Ans

Comprehension:

Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it,” said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.

SubQuestion No : 88

The micro forest project was started in Fazilka district
mainly because:

A 1. the district had arable land available for the forest
X 2. the residents of the district had a sense of belongingness

the district administration wanted to utilize
the unused land in the village

+ 4. the district had the lowest green cover in Punjab

Question ID : 26433094621
Status : Answered
Chosen Option : 4
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Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it,” said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.

SubQuestion No : 89

@89 The Miyawaki method of planting micro forest

Ans

was designed by:

X< 1. An officer from the district administration
& 2. the scientists of the Forest Research Institute

+ 3. A Japanese sclentist

X 4. the villagers of Kuharianwali village

Question ID : 26433094619

Status : Answered

Chosen Option: 3
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Q.90

Ans

Comprehension:
Read the following passage and answer the questions given after it.

Kuharianwali, a village in the Fazilka district of Punjab, has become a trendsetter in expanding
forest cover. As of 2021, according to data from the Forest Research Institute, the district had
just 1.34 per cent forest cover, one of the lowest in the state.

The district administration initiated a project called “My village, my forest” in October 2021.
The idea was to utilize unused land in the village and develop a “forest” by applying the so-
called Miyawaki method. In less than a year, the area is now full of plants such as neem,
Arjun, Ashok, Jamun, guava and others.

The forest is now self-sustainable as plants have gained enough strength.

The Miyawaki method was designed by Japanese botanist Akira Miyawaki in the 1980s.

It is a technique to create micro forests over small plots of land. Planting three to four
saplings per square meter, using native varieties adapted to local conditions, it works
effectively irrespective of soil and climate conditions.

Plants require eight to nine months of care before reaching a point where the micro forest
becomes self-sustaining.

The method requires planting a wide variety of plants in a fairly dense manner so that the plot
of land has different layers of a forest such as shrubs, trees, and canopies — on small plots of
land, turning them into tiny forests. Through this method, mini forests grow 10 times faster
and become 30 times denser and 100 times more bio-diverse than those planted through
conventional methods.

“The forest gives the residents of the village a sense of belonging, a desire to conserve and
protect it,” said the Sarpanch of the Kuharianwali village. Apart from providing a rich source of
oxygen, the micro forest helps lower temperatures, reduce air and noise pollution.

It also attracts local birds and insects.

The micro forest creates carbon sinks with an ability to absorb up to 30 times or more
Carbon-dioxide as compared to conventional forests.

SubQuestion No : 90

What is the passage about?

X 1. Benefits of micro forests
X 2. The Mivawaki method

« 3. Micro forest project in a Punjab village
X 4. The Forests in Punjab

Question ID : 26433094618

Status : Answered

Chosen Option : 3
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Q.91

Ans

Comprehension:

Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled 'Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India's trucking market is expected to grow over 4x by 2050 -- fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETs) - do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 91

After reading the passage one can infer that it is:
X 1. asurvey report

X 2. a Niti Aayog report

X 3. a magazine article

+ 4. anews item about a Niti Aayog report

Question ID : 26433094605

Status : Answered

Chosen Option : 2
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Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled ‘Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India’s trucking market is expected to grow over 4x by 2050 - fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTSs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETS) -- do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 92

Q92 <fijeling the nation’s economy and transportation emissions”

Here the word *fueling” means:
Ans X 1. servicing
« 2. inciting
X 3. filling up
X 4. depleting

Question ID : 26433094609
Status : Answered
Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled "Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India's trucking market is expected to grow over 4x by 2050 - fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTSs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETs) - do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 93

Q93 The passage is mainly about:

Ans

X 1. India’s present day truck market

« 2. Future of India’s truck market
# 3. India’s truck market
X 4. Loans for Zero emission trucks

Question ID : 26433094606

Status : Answered

Chosen Option : 2
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Q.94

Ans

Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled ‘Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India’s trucking market is expected to grow over 4x by 2050 - fuelling the nation’s economy
and transportation emissions,’" it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTSs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETS) -- do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 94
By 2050, the number of trucks is expected to be:
X 1. 4 million
« 2. 17 million
X 3. 4.6 billion
X 4. 9.6 million

Question ID : 26433094608

Status : Answered

Chosen Option : 2
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Comprehension:
Read the following passage and answer the questions given after it.

India's trucking market is expected to grow over four times by 2050, a Niti Aayog report said
on Friday and suggested that financial institutions can work to structure more-favourable
financing solutions for zero-emission trucks (ZETs).

The report titled "Transforming Trucking in India: Pathways to Zero-Emission Truck
Deployment' further said as road freight travel continues to grow, the number of trucks is
expected to more than quadruple, from 4 million in 2022 to roughly 17 million trucks by 2050.
"India’s trucking market is expected to grow over 4x by 2050 - fuelling the nation’s economy
and transportation emissions," it said.

Pointing out that road transport (i.e. trucks) carries the bulk of India's goods, 70 per cent of
today's domestic freight demand, the report said heavy and medium-duty trucks (HDTs and
MDTSs) are responsible for most of that road transportation.

According to the report, currently, India transports 4.6 billion tonnes of freight annually,
generating a transport demand of 2.2 trillion tonne-kilometres (tonne-km) at the cost of Rs 9.5
lakh crore.

Noting that demand for goods is rising with urbanization, population increase, the rise of e-
commerce and rising income levels, the report said as this demand continues to grow,
associated road freight movement is expected to increase to 9.6 trillion tonne-km by 2050.
"In light of these market trends... lenders and other financial institutions can work to structure
more-favourable financing for ZET loans through tailored loan products, better-informed
depreciation criteria, and alternative credit evaluations," it suggested.

Zero-emissions trucks (ZETs) - including battery electric trucks (BETs) and fuel cell electric
trucks (FCETS) -- do not have tailpipe emissions and have lower operating costs.

SubQuestion No : 95

Q95 YWhat has NOT been suggested by the Niti Aayog report

Ans

as a financial solution for financing Zero Emission trucks?
& 1. alternative credit evaluations

X 2. better-informed depreciation criteria

X 3. tailored loan products

« 4. greater tax benefits

Question ID : 26433094607
Status : Answered
Chosen Option : 4
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Q.96

Ans

Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 96

According to the passage, the most effective tool of
persuasion is

pathos, because human beings are most swayed by
~emotions

ethos, because vou cannot persuade an audience that

2.
x does not trust you

+ 3. a combination of ethos, logos and pathos

X 4. logos, because it can also be used to build ethos

Question ID : 26433094719
Status : Answered
Chosen Option: 3
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 97
Q97 1 ogos makes use of:

Ans X 1. emotions and feelings
X 2. trust and sincerity

X 3. brand commercials
« 4 facts and statistics

Question ID : 26433094716
Status : Answered
Chosen Option : 4
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 98

Q98 Select the correct synonym of
credible

Ans X 1. interesting

X 2. effective

« 3. dependable

# 4. terrible

Question ID : 26433094720
Status : Answered
Chosen Option : 3
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap Kkills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 99
Q99 The passage talks of the art of:
Ans X' 1. selection
X 2. connection

+ 3. persuasion

X 4. oration

Question ID : 26433094718
Status : Answered
Chosen Option: 3
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Comprehension:

Read the passage and answer the questions that follow.

Persuasion is the art of convincing someone to agree with your point of view. According to
the ancient Greek philosopher Aristotle, there are three basic tools of persuasion: ethos,
pathos, and logos.

Ethos is a speaker’s way of convincing the audience that she is a credible source. An
audience will consider a speaker credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can develop ethos by explaining how
much experience or education she has in the field. A speaker can also create ethos by
convincing the audience that she is a good person who has their best interests at heart.
Pathos is a speaker’s way of connecting with an audience’s emotions. For example, a speaker
who is trying to convince an audience to vote for him might say that he alone can save the
country from a terrible war. These words are intended to fill the audience with fear, thus
making them want to vote for him. Similarly, a charity organization that helps animals might
show an audience pictures of injured dogs and cats. These images are intended to fill the
viewers with pity.

Logos is the use of facts, information, statistics, or other evidence to make your argument
more convincing. An audience will be more likely to believe you if you have data to back up
your claims. For example, a commercial for soap might tell you that laboratory tests have
shown that their soap kills all 7,000,000 of the bacteria living on your hands right now. This
piece of information might make you more likely to buy their brand of soap. Use of logos can
also increase a speaker’s ethos; the more facts a speaker includes in his argument, the more
likely you are to think that he is educated and trustworthy.

Although ethos, pathos, and logos all have their strengths, they are often most effective when
they are used together. Indeed, most speakers use a combination of ethos, pathos, and logos
to persuade their audiences.

SubQuestion No : 100
Q100 ywhich of the following is NOT true?

Ans 1. Ethos can build logos.
X 2. Aristotle has defined the tools of persuasion.
X 3. Evoking pity can help charities.

X 4. You can be persuaded by a person whom you trust.

Question ID : 26433094717
Status : Answered
Chosen Option : 1
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